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QUESTION 1

Your organization is implementing an automation-first policy, requiring all code to be checked into a version-controlled
repository. You are planning to deploy NetApp Cloud Volumes ONTAP for storage services in AWS.

In this scenario, how do you ensure that the NetApp solution satisfies your organization\\'s requirements?
A. Use AWS CloudFormation templates to deploy Cloud Volumes ONTAP instances.

B. Configure NetApp Cloud Manager to automatically export Cloud Volumes ONTAP configurations from Cloud
Manager and save them into GitHub.

C. Use the NetApp Cloud Manager Terraform provider to orchestrate Cloud Volumes ONTAP deployments.
D. Use the Hashicorp Terraform registry to deploy Cloud Volumes ONTAP instances.

Correct Answer: C

QUESTION 2

A company realizes that multiple departments are using different cloud providers for mission-critical workloads. They are
experiencing poor performance on workloads across different cloud providers and notice that there are deployment
inconsistencies.

In this scenario, what are two ways to correct the problem? (Choose two.)

A. Use infrastructure as code (IaC) to ensure deployments satisfy design specifications.

B. Use storage services that can scale dynamically with workload demands.

C. Consolidate data for applications into volumes on a single cloud provider.

D. Ensure that all virtual machines use Reserved Instances to maximize performance.

Correct Answer: BC

QUESTION 3

You re-engineer your on-premises Infrastructure and migrating workloads to the cloud. You are asked to consider a
hybrid cloud deployment.

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for the workload in this
situation? (Choose two.)

A. when used to provide a guaranteed low latency solution for your analytics workloads
B. when specific data in your solution is not permitted to be moved to the cloud due to regulations or policies

C. when used to reduce management between your on-premises data center and remote locations by hosting part of
your architecture in the cloud
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D. when used as a transition platform during a longer-term migration to a fully cloud-native solution

Correct Answer: CD

QUESTION 4

Which NetApp Cloud Manager feature would be enabled to support Immutability of the data?
A. NetApp Cloud WORM

B. NetApp Storage Encryption

C. NetApp Snapshot

D. NetApp Volume Encryption

Correct Answer: B

QUESTION 5

A customer has an on-premises data center with NetApp ONTAP storage. They have a Snapshot policy set up for their
volumes to create periodic Snapshot copies so that they can recover from those in case they lose their data. However,
their IT architect wants to implement a solution that will enable them to restore volumes or individual files to their storage
on-premises or in the cloud.

In this scenario, which NetApp cloud service should be used to satisfy the requirement?

A. Cloud Backup service

B. Cloud Sync service

C. SaaS Backup

D. Cloud Volumes Service

Correct Answer: B
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